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Horizontal asymptote: y = 0

y e v Conclusion
—co < x < —J/3 = = Decreasing, concave down
x=-J3 —? — 0 Point of inflection
eV <l | =it Decreasing, concave up
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F=r—1] ) 0 + Relative minimum
—1 =x<0 + | + | Increasing, concave up
x=0 0 + 0 Point of inflection
0<x<l S = Increasing, concave down
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x=1 2 0 - Relative maximum
1<x<-/3 —h Decreasing, concave down
x=/3 % — | 0 | Point of inflection
J3<x< oo - + Decreasing, concave up
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Therefore, (0, —— 1 is a relative maximum.
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Vertical asymptotes: x = +3

Horizontal asymptote: y = 1

Symmetric about y-axis

28. F)=4(x— 1P +2
) =(x—1?=0whenx= 1.
fx) =2(x—1) = O whenx = 1.

) | &) | R Conclusion
— e X ] + — | Increasing, concave down
x=1 2 0 0 | Point of inflection
lexsea i Increasing, concave up




